How to adjust starting position :
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X axis : 1=1mm

Y axis : 5=1mm

If you can not adjust y axis position in printmon ,

you should adjust “config 修改程序.exe ”

1.delete “config--” before you adjust “config 修改程序.exe ”

2.adjust to “25” and check printing start position .
[image: image2.png]B > AIBRIR (F) > F& > UVHL¥DTGHIEIRER > 3.UV6090 3.084 > 3. 0BRGN

~

" Epson-5

7 Font

| GeneralConfig

" Language

1 Preview

" spool

[&] 4Clear C.bmp

[&] 4Clear Kbmp

[&] 4Clear M.bmp

[&] 4Clear Return.bmp
[&] 4Clear Y.bmp

] 4Down.bmp

[&] 4Left.bmp

[&] 4Right.bmp

[&] 4Up.bmp

5 cizhuaniiTime.txt
[2] CleanPrinterHeader.dll
| company.txt

[ delete
% | config.ini

%] datum.ini
[2] DCControls.dil

[] DesKeyFunc a.dai

[] DeskeyFunc b.dai

&] Display.bmp

[ pmc2210.dll

5] EARXHIL@NMGEQ@Y4MSIY(Y).pn|

 Option View

BENSKE

#E SR

B (4T ENIR E)3% 5

BERSREES

e e i B R = R

$T ENE X105 &

EH AR EE

V360- %

6545

102778

v O  #=Prin.. P

TEIRERAE [o
HWELDFRSEE [2
YEHNEKE [so00

WERNEEE 17
R bEBSEE L
vaco-18& [20
vaso-R& [ss

Ssave

RIFEW(S) BHE B ()




For example:
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Print an image with start position is (0,0), but the real start position is (10,5).

So we change the value to:

122-10*1=112
25-5*5=0
